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He harvested the produce of his grapevine - YNRY2N DR 022

OVERVIEW

The mwn states that in a 12°Kn 77¥ it is possible to make a npii with just three
harvests; namely, grapes, olives and figs (in that order). 5010 questions the order
in which the 71wn lists these three fruits. It seems to contradict the order of their
harvest as mentioned in other N17na.

— 0957 NNIAN ([v prEs] 33 2aa7) AXNIT DIVN NNIAN 093D MY 9P ’9NY
It is on account of this that he refers to the produce of the vineyard as Xan;
which is generally translated as grain, Here however the Xin refers to the grapes
and wine as 7X12n because it is written in the 770 ‘and the 7X2an of your

vineyard’. We see that the 770 refers to the produce of the vineyard, the grapes and wine, as
nm:m,l therefore the 71wn also refers to it as 81N>

mooIn asks a question:
— 1YY 0P 1227 25T 0P NNIAN NINT XN NN 9NN ON)

And if you will say, it is understandable that the Xin of the 71wn states XN
before he mentions olives; "0 NR pom 1X1I2D NX 010" for the wine season

precedes the olive oil season -
— 999139 192 1T YN (x,30 xw¥n Na2) TYWI INTINA 1399INT

As the Xn»12 states in w1 ¥R P79; first it states, ‘the time of selling wine

arrived’ -
YAV 919919 1% 93N MNP 337 1N

And afterwards the N2 mentions in sequential order that the time for selling
oil arrived.’ Therefore the precedence of wine before oil in our 73w is understood.

— TP DIINN NN 99N 9N 119D 23N INNPN I NN VI NON
However, the phrase, ‘he gathered his dried figs’, why is that taught in the 71vn
afterwards; after the wine and the oil, since figs ripen before the wine and olive oil

seasons! MdoIN proves his point:
— NP AN [P8M)] 1957 11D NN I8P 12D I8N 99N YOI I8N (37 ow) JAPNNA N NNY

' moown wishes (also) perhaps to establish that X120 nX 01> refers specifically to wine, as a preface for the

upcoming question.

* The x1n was not concerned that we may misconstrue the term X120 here to mean grain. For since we are discussing
the produce of an orchard (12°X 77W), therefore, it is obvious that we are not referring to grain. The (only) fX1an that
grows in an orchard is 0727 NXYIAN.

? The ®n> 2 does not actually state 'Jaw M3 Jat 35375 it is however understood from the sequential order in the
XN»72, that 7w was sold after the wine season.
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For the X723 states in ®apnn P19, ‘the latter half of the month of 973, the month of
99K, and the first half of 190 is the harvesting of grain,4 the latter half of 1%, the
month of 1»n [and the first half of] 23R is the season of drying the figs’ -
— (3,79 97 $19922 122997 YIVUNA NN YO8N

However, the harvesting of the grapes/wine was in the month of sawn, as the
X713 states in n1292 noon -

= 99U 919953 XYY U2 219993 XY INNDP INITNNN XD 1599390 RMVNA 19299 X2 1NY 9INT
That 829 said to the student scholars, ‘I beg of you do not appear before me
not in the days of 301 and not in the days of >9wn’; for in 0°1 was the grain harvest
and "wn was the season of pressing the grapes for wine.

Mmoo offers an additional proof that *wn is the time of 7°x2:
—23) 79IV XY SIUN 23 1D 23) (3,53 97 1971102 1) 1399IN)

And the X723 in 19977710 Noon also states, a thief who steals during the month of

19%1 or the month of "9wn is not considered a thief, that he should become disqualified
as a witness, the X713 continues there —

— VY 927 NDYIND D1 2N
And these words are valid only if this thief is a sharecropper and he takes (only)
a small amount in addition to what he is entitled to. The sharecropper when he takes
something extra does not feel that he is a thief. In his opinion he is entitled to take something
extra for all the (extra) work he does. In any event it is during the harvest months of 01 (grain)
and >7wn (grapes) that we do not consider him a thief since he is actually doing the harvest work
during this time. It is evident from the X723 there that during >2wn there is harvest work.

mooIn brings another proof that *7wn is the 7°¥2 month.
— 1929 9D91Y 9 2N (3,59 97 xww¥a xa3) TYI INTIND 13999IN)

And the X723 relates in T2 1R P9 did the master see what these rabbinical

students are doing -
— *1Nav3 7Y 59Na7) YIUNI KINNN 3T %30T

They prepay (at a lower price) for the wine during >awn; even though they do not

take it then and they choose unspoiled wine in naw. It is evident from there as well that
"wn is the time of 7°x2.

mooIn concludes his original question:
— NP1 N9 929 YIVUNA NN PINIT YIYN IN DN

* See previous NN on this mwHw 7"7 7MY (TIE footnote # 4).
> »"w1 explains there, that had they taken the wine in *3wn it may have turned into vinegar by nav.
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It is apparent from all of the above that the 2932 of grapes/wine is in »»wn, and

the Y5 season has already concluded. mooin has previously cited the X3 that the yp

season is X XM 10 1°0 X¥1. The 7°¥2 season which is in »wn is after the y°p season. Why
therefore does the 71wn mention X120 NX 01 which refers to the 7°%2 before 1¥»p NX 015 which
takes place before "wn.

N1B0IN answers:
— 9N DOIND T WA 975Y INY 295 AN I8N 1NN N0 SN YD 95T NNT 09 Y

And one may say; that which the X713 identifies 792 as the latter half of 710,
120 and the first half of 28, it is not referring to the drying of the figs after the
harvest, but rather it is called y°p because that is the main drying period of the

figs while they are still on the tree —
— 95821 INRY 1Y )9INRD 113 IMN PSSP PN 171599

However, they do not harvest the figs from the tree until after the 2322, which is
in »wn. When our 71wn says 1¥>°p DX 013 it is referring to the harvest of the figs after the 7°x2.

mooIn offers an alternate solution:
— YA 1IN 0NN 12D I8N DNP ININ PUPIY 193 IN

Or you may also say that 2X >Xm 1nn 190 "X, since the X3 refers to it as y7p, it
means that during those times the figs where actually being dried in the fields, for
the would gather the figs from the trees before the latter half of 31°0 and they

would leave the figs to dry during 2% >xm 1an 11°0 *¥n —
— %0991 NNYAN INRY 1Y 129 1D ]t N

However the time of bringing the dried figs into the house was not until after

the work with the vineyard produce. This explains why 13 nX 013 is mentioned last, for
they would not bring the figs into the house until after the 7°x2.

mooIn responds to an anticipated difficulty with this last explanation:
— OV Y TnTY ImNa YWY PPD 19N NIWY 9D NPIN NVIPH XN KT NN

But why is not the harvesting of the figs considered to be a npm. Why is it
necessary to wait until after the 7°x2, the 711 should begin with harvesting the figs
and end with 1°n°T DX PO NXIAN DX 012, MdOIN responds: for perhaps they were
accustomed to dry the figs in that [very] same field in which they grew —

% Seemingly Moo must mean that it is also after the olive oil season as well. See “Thinking it over’ # 2.
" The n"27 man amends this to read a1 hahf\vah

¥ See footnote # 6.

? The n"27 nix7 amends this to read 273w 7R3y 770,
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— %25 DNV 1Y NPIN NN XY 799
And therefore the harvesting alone is not considered a 71?37 until he brings the

figs to his house. Merely harvesting and leaving the crops where they were, is not considered
a 7p1n. It does not show ownership. It is only when one removes the crops and takes them away,
only then does he demonstrate ownership. If the figs would be taken to a different field to dry,
that would have been a P11 indeed. However it was customary to have them dried in the same
field where they grew; therefore there is no 7 until he brings the dried figs to his house.

In summation; the first answer maintains that the figs were actually harvested from the trees after
the grapes and olives; while the second answer maintains that the figs were actually harvested
first, however they were not brought into the house until after the wine and oil season.

moon offers a different approach to this matter:
SAPIN T 29N AN INIP DI LAY PN NN PON SIUNI INNIAN VIO YD ININ 1%

And the 1''9 explains the 71wn as follows: he gathered his wine produce in "wn
(as mentioned previously, the 7°¥2 took place in *7wn); and he harvested his
olives in waw (as Md0In mentioned previously that the oil season was after the
wine season); and he gathered his dried figs in a8 (as mentioned previously that
the y°p season concludes during 2X); this is considered a 7211,

— PAN NIV APIN HNNN)
It comes out that there is a 717117 in one year; from >wn till ax.

It should be noted that the wine and olives that are harvested in "wn and vaw are from the
previous growing season, while the figs that are harvested in 2R are from the following growing
season. M90IN addresses this issue:

— MIYN NYNN NIN IVNT DIVN NT 9705 VPN

And the Xin used this type of order even though the figs (in relation to the wine
and oil) are the first to be harvested in one growing season, because >wn is the

beginning of the year. The xin wanted to teach us how in a 7°X 77w a 7P can be made in
one year beginning with »wn — the beginning of the year.

mooIn is not satisfied with this interpretation:
1191599 199942 11Y 1IY SAWA 170 1Y 231 1IN OX AW P9y Yan

However, it [would be] more appropriate if the 71w» would have mentioned
the harvesting of the fruits in the order of the yearly rains upon which these
fruits grow. It should have mentioned the figs first. For they are the first to ripen from the

' The n"a71 A3 amends this to read 2w1n 727 0.
" See x"wn.
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rainy season which begins in 11wn, the grapes and the olives grow from this same rainy season
but ripen later. They should be mentioned later after the figs. m»oIn does not resolve this
difficulty on the 1" w .

SUMMARY

The X2 of wine is in N with the olive oil season sometime thereafter. The figs
are either harvested after the oil season, or are harvested during 110, dried until the
middle of 2X, but not taken into the house until after the oil season. According to
the 11", the figs are taken into the house (immediately) after they are finished being
dried in 2X.

A 7pn requires that the produce be removed from the field (as well).

THINKING IT OVER
I. What are the various advantages (and disadvantages) of moown three
interpretations?

2. Do moon and the 11" agree as to the time of >n*17 npon?'?

12 See footnote # 6.
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